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2018(Even)

Time : 3 Hrs. Sem. I/I1
CS-1

Full Marks : 70

Pass Marks : 28

There are two parts in the question PART-I(ENGLISH)
& PART-II(HINDI)
T § 1 e § @ve-l (3sh) '@ wve-Il (f5=)

Answer 16 Questions from Part-1 and 4 Questions from
Part-1l, of Group-A, each question carries 1 mark.
TI-A & GUS-I ¥ 16 TN @Ue-II § 4 9 & S| <, TIH
T 1 U 1 3k 2

Answer 4 Questions from Part-I and 1 Questions from
Part-11, of Group-B, each question carries 4 mark.
T9-B & @UES-I¥ 4 7 G-I § [ T & S| 3, TH
T T A 4 3k 2

Answer 3 Questions from Part-I and 2 Questions from
Part-11, of Group-C, each question carries 6 mark.
T9-C & @Ue-I ¥ 3 T @Ue-I] § 299 & W 3, T+
T KT HHA 6 3k 2

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
Tk U9 & T 3790 1 ST Tk & e (TR A §) &
e, srgen & &1 Sd S Hehdl © |

The figures in right hand margin indicate marks.
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GROUPA

1. Choose the most suitable answer from the following
options : 1x16=16

(1)

(i)

(iif)

The one grammatically correct sentence from
amongst the following ones is:

(a) He was appointed a Supervisor in that
company.

(b) He was appointed the supervisor in that
company.

(c) I have been knowing Mr.Sen for long.

(d) None of these

A Conjunction :

(a) Joins together only two words, clouses
and sentences.

(b) Joins together two or more words, clauses
and sentences.

(c) Analyses the implicit meaning of a
sentence.

(d) Analyses the explicit meaning of a
sentence.

The statement which is not applicable to the

use of capital letters is :

(a) It is essentially used at the opening of a
sentence.

(b) It is used as the very first letter of all
proper nouns.

(iv)

(v)

(vi)
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(c) All words in a title except Articles,
Propositions and conjunctions begin with
capital letters.
(d)  All words in a title must begin with capital
letters.

Which one of the following pairs is a case of

mismatch:

(a) Articles .......... A, An and the

(b) Syntax ........... Subject-Verb Agreement
(c) Pronoun ........... And, If, Unless

(d) Change of Voice ............. Transformation

The tree is too high to climb. Removing 'too'

this sentence can be rewritten thus.
(a) The tree is not that high.
(b) The tree is so high that one cannot climb.
(c) Anyone can climb this tree although it is
so very high.
(d) All of these
The Noun-form of the word 'Accurate’' is:
(a) Acuration
(b) Accuracy
(c) Acuracy
(d) All of these
PTO
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(vii)

(vii)

(ix)

(x)

Identity the sentence that is not grammatically
correct:

(a)  The higher one goes, colder it gets.

(b) Fifty kilometers is not a long distance
today.

(c) The house is on fire.
(d) Mr. Banerji is on the committee.

Choose an odd Word from the under-mentiond

options :
(a) They
(b) It

(c) He
(d No

The punctuation-mark that is used to denote
surprise or some other emotion is :

(a) Apostrophe 'S'

(b) Question Mark

(c)  Exclamation mark

(d) Inverted commas.

The Adjective form of the word 'Discipline' is:
(a) Disciplinary

(b) Disciplined

(c) Disciple

(d) Both (a) and (b) above.

(x1)

(xii)

(xii)

(x1v)
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All Modals refer to:
(@ V!
(b) V2
) V3
(d V4

A sentence in the passive Voice is
called:

(a) Active Sentence

(b)  Question

(c) Passive Sentence
(d) Imperative Sentence

Do not tease the handicapped.' The same
sentence can be rewritten using Passive Voice
thus:

(a) The handicapped are not teased by you
(b)  You must not tease the handicapped.
(c) The handicapped are teased scarlely.
(d) The handicapped should not be teased.

The question-tag to be added to the sentence
'l am always. With you in the days of your
pains and penuries is :

(a AmI?
(b) Amn't1?
(c) Aren'tl?
(d) None of these
PTO
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(xv) The word opposite in meaning is called:

(a) Homonym
(b)  Synonym
(c) Antonym

(d) All of these
(xvi) Which of the following statements is applicable
to Transformation?
(a) It causes a change in both form and
meaning of the given sentence
(b) It causes no change either in form or in
meaning of a sentence

(c) It causes no change whatsover.
(d) All of these

GROUP B

Read the following passage carefully and then
answer the questions that follow :

The name 'radar' comes from the italicized letters in the
following words Radio Detection And Ranging. Radar
ranges into space and detects Objects in its path. A
transmiter sends out signals by way of a direction antenna
which keeps revolving at one to thirty times a minute.
The signals travel in a straight line at about 300 million
metres/ second, and when they strike an object in their
path, they are reflected from this object.
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Part of the reflected energy then returns to the revolving
antenna from which the pulses originally went out. the
returning radar echoes are transmitted to a receiving
mechanism, in which a cathode ray tube (called on
oscilloscope) converts the echoes into a visible pattern.
the flattened end of the oscilloscope, called the screen,
is coated with a fluorescent material. At the reflected
pulses reach the oscilloscope, a stream of electrons
strikes the screen, and the fluorescent coating emits a
spot of light (a 'pip'). In the most commonly employed
system. the PPI (Plan Position Indicator) the pip
indicates the position of the object from which the
signals have been reflected. The farther away the pip

will be from the centre of the radar screen.

What do you learn about the origin of the term 'radar'?

State the main function of the radar. 4
How is a pip produced? 4

How does the pip indicate the distance of the object

reflecting the signals from a radar? 4

Give the 'door-form for each of the following: Transmit,
Reflect, Convert, Send, Indicate, Direct, Employ,
Travel. 4

PTO
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GROUP C

Answer all Questions.

6.

Define and illustrate Direct Speech and Indirect speech.
How is the change from Direct Speech into Indirect

Speech a case of Transformation? 6
Or (37214T)

Paragraph writing is a skill as well as a technique.

Establish. 6

State the basic structure of simple present, present
Progressive, Present Perfect and Present Perfect

continuous Tenses giving one suitable example for each. 6

Or (372714T)
State and explain Word Formation. 6
Discuss the different usages of articles. 6
Or (37214T)

Define Preposition. Identify and state some typical

usages of Prepositions. 6
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GROUPA

qaifys STga faweq &1 I fafew:
(xvil) ‘TG’ TR w1 Gaifuw W ST B:
(1) St @WE AU gAE WY,
(7)) 9 &R =9 =4,
(9) St H % WEg @ T,
(2) fSger w1 "o 2l
(xviii) Seg=2’ &1 el | ©-
(&) =
(F) 9=
(") o=
(7) vuy=
xix) Frfafea & ¥ 9 aad o IR R gH-
(31) STEIEH
() Farge
(W) gfafo
(%) R
xx) frfafed & @ feed ‘¢ yog Sier T
2
(1) Wi, SHrE, <[, WE
(@) uE, wens, fuer, =que
(@) i, w&, whE, qfgar
(%) drdft, e, Tocemdt e
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GROUP B 11. e fegmm’ & yoiid@ fammom & oqar fe<dt
‘ogrferfue’ WR ®q oot St AvEar wd

T T & SW e 4x1=4 9 1 Ioci@ A gC TRh, TS GUeed
9. ‘IR’ oW W 250 R F uH R fow F WA T Y TR e W e 6
4 Or (31e14T)
Or (31eTaT) frefafed & 9 fodt 6 W feoof feei:- 6
‘Tgg’ fawg W 250 IR W TE IR a9 4 (3) T
(F) 98 g
GROUP C (W) "R
it &y & I AT | 6x2=12 (37) =Eatas o

hk

10. fordt vt & fSenfys@ &1 R 9 Td 9N
o fefen foad oe iR sed g ' @1 fawa
faaeor fean o & qen oE Wewan ?q Wi
wigfa ®f @ &1 T e 6

Or (37214T)

T WER % fau fafecn seew & foau o=

e 3 faE| 6
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